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3. Find the missing dimension of the prism,

V=~2wh Volume of rectangular prism
84=6X4Xh Replace V with 84, £ with 6, and

w with 4.
84 = 24h Multiply.
qb{' S 84 _ 24h Divide each side by 24,

pe— 24 24

35=ph Simplify.

W oow The height of the prism is 3.5 meters.
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Check 6 X4%x35=84 v a

Got I¥+7 Do this problem to find out.

d. V=945km3 ¢ =7km h=3kmw="7?
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1. Arectangular kitchen sink is 25.25 inches long, 19.75 inches wide, and
10 inches deep. Find the amount of water that can be contained in the

4,986.875 in3

(awow\ s SINK. (Examples 1and 2)
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2. Find the missing dimension of a rectangular prism with a
volume of 126 cubic centimeters, a width of 7% centimeters,

and a height of 2 centimeters. (ample2) 8 €M

3. @ Building on the Essential Question Why can you use
either the formula V = éwh or V = Bh to find the volume of
a rectangular prism?

Sample answer: The area of the base can be

represented as £ X w or as B. To find the volume of

the prism, multiply the area of the base by the height

of the prism.
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Find the volume of each prism. (fample 1)
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4. Afishing tackle box is 13 inches long,

6 inches wide, and 2%
What is the volume of the tackle box?
(Example 2)

195 in3

inches high.

5. Find the length of a rectangular prism having
a volume of 2,830.5 cubic meters, width of
18.5 meters, and height of 9 meters.

(Example 3)

17 m




Find the missing dimension of each prism. (famp: )
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8. @ Be Precise InJapan, farmers have created watermelons in the shape
of rectangular prisms. Find the volume of a prism-shaped watermelon in
cubic inches if its length is 10 inches, its width is %foot, and its height is
9inches.

720 in3

) The glass container shown is filled to a height of 2.25 inches.

a. How much sand is currently in the container?
502 in3
8
b. How much more ;and could the container hold before
165 in?

it overflows?

5in.

¢. What percent of the container is filled with sand? 75%



10. (0S8 Identify Structure Refer to the graphic novel frame below for Exercises a—c.

I wonder
which one
holds more
popcorn?

a. Pilar chose the box on the left. If it is 8 inches long, 8 inches wide, and
8 inches tall, what is the volume of Pilar's box?

512 in?

b. Amanda chose the box on the right. If it is 8 inches long, 6 inches wide,
and 10 inches tall, what is the volume of Amanda’s box?

480 in?
¢. Who received more popcorn, Pilar or Amanda? How much more?

Pilar; 32 in3



C)\b H.O.T. Problems Higher Order Thinking J

11.

12,

13.

0@ Persevere with Problems Refer to the prism at the right. If all the

dimensions of the prism doubled, would the volume double? Explain your

reasoning.

No; the volume of the figure is 33 or 27 cubic units. If the dimensions

doubled, the volume would be 63 or 216 cubic units, eight times greater.

ﬁ@ Justify Conclusions Which has the greater volume: a prism with a
length of 5 inches, a width of 4 inches, and a height of 10 inches, or a prism
with a length of 10 inches, a width of 5 inches, and a height of 4 inches?

Justify your selection. They both have the same volume. Volume of the first prism:

5 X 4 X 10 or 200 in>. Volume of the second prism: 10 X 5 X 4 or 200 in>.

l’-@ Model with Mathematics Write a real-world problem in which you
need to find the volume of a right rectangular prism. Solve your problem.

Sample answer: A gift box is 7 inches long, 9 inches wide, and 4 inches tall.

What is the volume of the gift box?; 252 in?



